EEC 180A (Prof. V.G. Oklobdzija) Quiz -5 (15 -minutes given !) Spring 2000

Your Name: -

Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
- battery to power his door bell.
- O+ b

(a.) Finish the wiring diagram so that the bell can be actlvated ﬁom both: front and

back door.. “ - b{u Lo }, E .

— d=ar Dy ) ef, j‘g{ } | I . ”cr" i (f Ty Vo -.:"'!.' {, {1 ‘\'
Hint: watch for the door bell switches !

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

ie. fla,h) =7 (assume that door bell rings when f=1)

—P(m(")’: nb' + bo'

(c.) Ben has gone to work in his car. He is now sitting at a sharecholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

I 0’5

(d.) . Ben is sleeping. The cat accideﬂtally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
? ‘ :

N
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Problem #1: Ben is an engineer working in the Silicon Vailey start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be activated from both: front and
back door.- -
- -/ \.-‘.“' . Cb‘

Swi
(a)
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— g{ =TS :‘.. \ ] L ¢ ' Etﬁ'\' } ' - A“ A4 fL \
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Hint: watch for the door bell switches ! _
(b.) The door bell switch operates in the fdllowing way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
v expression for the door bell as a function of the two door bell swithes a and b ?
l ie.flab) =? (assume that door bell rings whenf=1) (e + b) 1 (o +b )+ (a+b&)
| .
G
]

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his d1v1dend check
- and he is pressing the door switch. Would the bell ring ?

VRA

(d.) .Ben is sleeping. The cat accidentaily jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

No
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very enetgy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door beil.

(a.) Finish the wiring diagram so that the bell can be activated from both: front and

bk donr o bell kel g | 2

leas Gt iR o \
< dear S Tellad bﬂue(a : A oo il (,,:, ‘
Hint: watch for the door bell switches !

- (b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

ie. fla,b) =.? (assume that door bell rings when f=1)
A/[a_‘v) = ;;.‘) g ") o

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

%4

(d.)- Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

No
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his elecmclty bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be actlvated from both: ﬁ'ont and

back door. . - \ub,su. Lell P Col

;r {L XA

Hint: watch for the door bell switches !

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

i.e. fla,b) =? (assume that door bell rings when f=1)

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

Vo betwae M v ma baktay b aukivake Mfmt*-dm

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
?

Mo,




EEC 180A (Prof. V.G. Oklobdzija) Quiz -5 (15 -minutes given !) Spring 2000

Your Name:

Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on hls electricity bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be activated from both: front and

béckdOér., ) b{u. Le ”

_ Aetr G Vet fR) I "z:i C heme cider, (0N
- ’ A oo PR B A O T
Hint: watch for the door bell switches ! - '
N (b.) The door bell switch operates in the following way: when pressed the contact is

ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithes aand b ?

i.e. fla,b) =? (assume that door bell rings when f=1)
f(a, é) “ g ¢ i’

‘(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

ho

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

yes
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be activated from both: front and

back dpor. - bsu. Le) ! - L ‘“‘*«.1‘“ Coi :

i P - /’ e

Tt
b
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Hint: watch for the door bell switches ! : ' _

(b.) The door bell switch operates in the folIowing way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

i.e. fla,b) =7 (assume that door bell rings when f=1)

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ? - '

No+

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

?
Nol
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electncny bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be activated from both: front and

back d
ok door - .Mb{u Lell P (ol

o

- g( At :: ‘ | LA :.,-.,. 3 |
Hint: watch for the door bell switches ! a

(b.) The door bell switch operates in the-following way: when pressed the contact is
ON. When released - there is no contact (it i1s OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

i.e. ffa,b) =7 (assume that door bell nngs when f=1)
)= oo+ ab +ab

~ (c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
- company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

No, becouar e bakank s wet fuone .

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog The dog started barking and this triggered Ben's car alarm. Would the door bell ring

No, becae A beil vy whin Pzl 4e wrtiek. 5 ol s o doee,
o ol A2 16 tartack
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be activated from both: front and

koo pelbell
, . __\ /-/ | o .

L
arn
-

- g } - :. ‘ .

‘ N - "’\ & ¢ .“\ . . B '
o dene Go & bo ey Looe Cooitet, (1)

Hint: watch for the door bell switches !

(b.) The door bell switch operates in the following way: when pressed the contact is
"ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithes a and b ?

i.c.fla,p) =7 (assume that door bell rings thlll f=1)

f(a,b) = a+B

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
. company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?  \yo uwwless. Ry wives
ove R\ Cewwecke : :

(d.) ‘Ben is sleeping. The cat accidentally Jjumped on the top of his car and_'scare'dlthc
. dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

? Not unless K swikdes ave  ON
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Problem #1: Ben is an engineer working in the Silioon Valley start-up company. He is
very energy consciencious. In order to save on hlS electricity bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be activated from both: front and

back door. | - ~\b£u L € ' ] /,« M

- ft T T i ] E A &{u‘)ﬁ; ":. \.u‘: J C-(\ ([:' \‘
Hint: watch for the door bell switches ! a '

(b.) The door bell switch operates in thé following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door beil as a function of the two door bell swithesa and b ?

e flab) =7 (assume that door bell rings when f=1)
ab +ab

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

b=1 O'O‘I"l'\":{ YQS

A=0 : ‘
(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
o :

No
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electnc1ty bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be actlvatcd from both: front and

bz?c.k door.: b{l{ b(-‘) P (ol

‘_— {. =0 'ﬁ)‘\__b..‘ 3 [ 52y ,‘ .- . . .
N g . | bdt " > P ST el (L\
Hint: watch for the door bell switches ! '

(b.) The door bell switch operates in thé following way: when pressed the contact is
£\ wu ON. When released - there is no contact (it is OFF). What is the logical
A b expression for the door bell as a function of the two door bell swithesaand b ?

€
(

i.e. f(a b} =? (assume that door bell rings when =1

PN _
by "{go\ +hlo ‘.
f | ! '

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his d1v1dend check
and he is pressing the door switch. Would the bell ring ?

MES, ATlavie wwer D00 Bl o nnesesh s o,

<«
e Q

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

H

N#l Belivic Ty bosLgaa  wie ey

Plgscery
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be activated from both: front and

back door. o bell Lell

; {(. LaLeY 4 ::.. ; ! { . :|a: \,." . :
o be ”a\&
Hint: watch for the door bell switches ! .

(b-) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell asa function of the- two door bell swithesaand b ?

i.e. fla,b) =? (assume that door bell rings when f=/)
Jd(0)0): ab + 2b +ab
(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his

company in San Jose. The mailman came to his back door tp deliver his dividend check
and he is pressing the door switch. Would the bell ring ? f\f&/ :

(d.) . Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm Would the door bell ring
? .

No
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He i is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be actlvated from both: front and

béck door. : m_beu, Le) ’

S U YRS I - | | IR
. - vt a / ba ‘l‘eﬂ‘ ‘ A.C‘n: ok T L
Hint: watch for the door bell switches !

{(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

ie. f(a b) =7 (assume that door bell rings when f=1)
q- (q, Wy - Q& % + Q ab

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ? -

No, e cor YooHeng & \\oowa\up'\'oﬁe\ng'_i

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
?

Nes
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door. bell

(a.) Finish the wiring diagram so that the bell can be activated from both: front and

back do?r.- “mb:tu Lell . . f oA

Y S TN L ba ;
| Hint: watch for the door bell switches ! a

(b.) The door bell switch operates in the following way: when pressc& the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

i.e. flo,b) =7 (assume that door bell rings when f=1) |

L= o +ok+3b

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch Would the bell ring ?

No . hatz g 0@ Qowel

(d.) -Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

k C)&ua-'\@ anQana. @\As\\a.é %\Q ANV Gas
™ p&m\(a,\ H\o. e\ s‘(\m@ N\@;, Q
Gthat %Lx)l{d\ (S pm\\o_é
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell.

| (a.) Finish the wiring diagram so that the bell can be activated from both: front and

back door. . - m_b{u Le ” ’f | loA

— | A ""“\svw;m

. .,_ — . . Cb)
Swt . R ———

‘ : =y IEEDY » 7 ‘ - -
N . \ i'~ ~ "-\.‘ ‘ ; __:. ‘ \ - -,
»ro R T ) AT j*- . JE;C 2} j Bl

, B :-wh-\“\ Cu PR Y
o ftf":} ' f:“-—""' i ‘ 4 ( * ﬁ-‘ ,/[ I [{ e B ,\.\,': J f (\. ( \;3’ !
Hint: watch for the door bell switches ! a '

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

i.e. fla,b) =7 (assume that door bell rings when f=1)
4 ab) = a+b

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ? :

Nes

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
? ' ' : :

Ng
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Problem #1: Ben is an engineer working in the Slllcon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring dia J so-tareare-bell can be activated from both: front and

~ doar Lo \! _;.f“"\‘_,‘ / . ({ : N I | :.
S balley Ao o
Hint: watch for the door bell switches !

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a ﬁlnction of the two door belt swithes aand b ?

J 1 e. f(a b) =-7. (assume that door bell nngs when =1 )

s (1Ab)

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
compary in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

o

'(d) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door beli ring
? - ‘

o
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
_ battery to power his door bell.

(a.) Finish the wiring diagram so that the bell can be activated from both: front and

back door.'/t_w\: b/{u. Lell . Cot

f b |
— doar g\-"J‘ € a) A oor 'C.w{ Fel (L\

Hint: watch for the door bell switches !

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithes a and b ?

i.e. fla,b) =7 (assume that door bell rings when f=1)
e )
C = O\\'a +a b
(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeﬁng of his

company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bellting? T} e pe wde 9w hove

rCCCﬂ\"‘\f \'\C lepsf SV .o < Sw\\’f\“ O\GF§ s A cc‘ioa\c'

‘NL\\CL L,rés - --*--3
(d)) - Ben is sleeping. The cat accxdentally _]urnped on the t0p of ﬁis car an"'d scaréd the

- dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
? i E AR bc"sf - b
no r - I B VSRl « (IR i l,) \~ ~ e

switeh syl CC;,_F;C{,? e eloeuid
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Problem #1: Ben is an engmeer working in the Slhcon Valley start~up company He is
very energy consciencious. In order to save on h:s electm:lty bill he wants to use his car
battery to power h1s door bell. -

() Finish the wiring dlagram so that the bell can be actlvated from both: front and

—r " P S Iy Y . . . .
— Asas DTt Ry bﬂ ”‘e‘:j ’ Aoor fed, (.L\
. . M}
Hint: watch for the door bell switches ! L i

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithes aand b ?

i.e.fla,b) =7 (assume that door bell rings when f=I)

‘chazb) va-]p

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

No, if daes'n‘ll

(d.) Ben is sleeping. The cat acmdentally jumped on the top of his car and scared the
dog The dog started barking and this tnggered Ben's car alarm. Would the door bell ring

/\/0 X oloearl”
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on hlS electricity blll he wants to use his car
battery to power his door bell. .

(a.) Finish the wiring diagram so that the bell can be activateéd from both: front and

hekdoor. el bell

- f( 0

Hint: watch for the door bell switches !

(b.) The door bell switch operates in the following way: when pressed the contact is

o L - ON. When released - there is no contact (it is OFF). What is the logical
,._.————~T expression for the door bell as a function of the two door bell swithesaand b ?
o} fo} ‘
o i i.e. fla,b) =7 (assume that door bell rings when f=1)
1o || — -
/o {- ab+ ba + ﬂ/é

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman canie to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

D

(d.) Ben is sleeping. The cat accidentally jumped oh the top of his car and scared the
dog The dog started barking and this triggered Ben's car alarm. Would the door bell ring

i The 50\”-/(,[15 bowe ¥ be tonamtitd

/
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Problem #1: Ben is an eng;neer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power hlS door bell,

- (a) Finish the wiring diagram so that the bell can be activated from both: front and

ba_Ck door. b{u_ Lell

— detrvr G \ 1t '&\) o
bam%&
Hint: watch for the door bell switches !

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithes a and b ?

A
e fla,b) =? (assume that door bell rings when f=1) B;) £ l“‘“
AR+ AR + AR |
= A+3

(c.) Ben has gone to work in his car, He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Wouid the bell ring ?

MM‘ '{‘ U\“’- do:;[‘beu IS CMMdf’cl "é“d e o~ 5*/‘1((,/ Sd../l'e_

(d) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

! Not ondess th ho o r's P&GkJ, 4o close e C-waf,'
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Problem #1: Ben is an eng'in,‘eer‘v_vbrkihg in the Silicon Valley start-up cbnfnpany. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to powei' his door bell.

‘/(a) Finish the wiring dxagram so that the bell can be activated from both: front and

bé,ck door. “_b{u Lell T

Hint_: watch for the door bell switches !

I (b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is_no contact (it is OFF). What is the logical
~ expression for the door bell as a function of the two door bell swithesaand b ? '

ie.fla,h) =? (assume that door bell rings when f=/)
/i( a L) = a + 17

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check

. . . o ) .
and he is pressing the door switch. Would the bell ring ? N-O Ve t “’ﬂ q{ , Wo o ? )

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared: the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
? ' : ' 3

Yo
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell.

| (a.) Finish the wiring diagram so that the bell can be activated from both: front and

back door. 1 . .
T~ bell Lell . ot

o~

///

—~ & 07 D ! R } . bo\ H&H '(Lf.*n.— ‘.",Lw-\‘ fed,
Hint: watch for the door bell switches !

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

i.e. fla,b) =7 (assume that door bell rings when f=1)

L(ab) = a4

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

TRLrE ‘P I/b/fw. —> b Lo porld et J?'Aa,

" (d.) Benis sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
? : ’

7o W&f'wwu niy )= parste WlTmpe
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Your Name:

Problem #1: Ben is an engineer working in the Slhcon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battcry to power. his door bell

(a.) Flmsh the wmng diagram so that the bell can be activated from both: front and

back door. - _ﬁbgu_ Lell .

L E"”c‘:l Cdooe i be
Hint: watch for the door bell switches ! :

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

i.e. fla,b) =7 (assume that door bell rmgs when f=1)
'F[ I o+ b |

(c.) Ben has goné to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ? '

o, e bottery go with e s
(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the

dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

no .
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Problem #1: Ben is an engineer work:ing in thé'éilicon Valley'start-up company. He is
very energy consciencious. In order to save on his electnclty bill he wants to use his car
battery to power his door bell.

(a.) Finish the wiring dlagram so that the bell can be actlvated from both: ﬁ'ont and
back door.

—dear G def, iR }
Hint: watch for the door bell switches !
(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no. contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithes aand b ?

- 1Le. fla,b) =7 (assume that door bell rings when f=1)

fled) = & +& = Fbtobtal-

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

Mo ok won b gy Gecomie a6 o botbery

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

T Udin”e'-}r‘q’
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Problem #1: Ben is an engineer working in the Silicon Valley start-up conpany. He is
very energy consciencious. In order to save on hlS clectnclty bill he wants to use his car
battery to power his door bell

(@) Finish the wiring diagram so. that the bell can be activated from both: front and
back door.
/ \“‘\b‘tu Le ” ' _,/\“-‘._\' M

// -; z \Q’w .
; - - { :  §

V ‘,‘. —. .- "- N E r ! - \' : . -
- tLhCJ( e e "a / . ) b N m ﬂ‘ ’ - 2. onl ‘-;.\-w'\ J’C«(\ (L \
Hint: watch for the door bell switches ! :

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithesaand b ?

i.e. fla,b) =7 (assume that door bell rings when f/=1)
-CCQ.ED=‘ q +b

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his

company in San Jose. The mailman came to his back door to deliver his dividend check

and he is pressing the door switch. Would the bell ring ? NO hecause there is o
Piwer for the  door kel

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring

TYes bewug thee is a flow o poucs conwectedty the door bell.
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Problem #l Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on hls electnc1ty bill he wants to use his car
battery to power his door beil,

" (a.) Finish the wiring diagram so that the bell can be activated from both: front and -
back door. L ! -
- -\"_bgul ell | P w
. - e - f\,\ ‘ ~ . M

Hint: watch for the door bell switches ! _ - ‘—H)

(b.) The door bell switch opérates in the'r following way: when pres contact’is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithes aand b ?

i.e. fla,b) =7 (assume that door bell rings when f=1)
= (a4 b)
" (c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his

company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ?

No, pen s thse onme (@ work

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog The dog started barkmg and this tnggered Ben's car alarm. Would the door bell ring

YES , [F &wveéd VOTheE  To powew
BeL »W/ MLARm ON
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Problem #1: Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell. ' o

(a.) Finish the wiring diagram so that the bell can be activated from both: front and
back door. . '
oor - \biu, Le) [
‘ = - T T

t R e

w deany G \ 1o, ‘@ )

i ba ,46‘3 | | (( T TR ! hy {, (’}::- “

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door beil swithes aand b ?

i.e. fla,b) =7 (assume that door bell rings when f=1)
+= o b b

(c.) Ben has gone to work in his car. He is now sitting at a shareholder\s me‘etmé of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ? Notf corthovt o

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
? : . ‘

sLo
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Problem #1: Ben is an engineer working in the Silicon Valley start-ip company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell..

| (é..) Finish the wiring diagram so that the bell Cah be activatéd from both: front and

back door.“ s ~;~~‘.ﬁ.b:e:ll L el e o

Hint: watch for the door bell switches ! . a

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithes aand b ?

ie. fla,b) =7 (assume that door bell rings when f=1) o+ b

(c.) Ben has gone to work in his car. He is now sitting at a sharcholdgrs. meeting of his
company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ? w~o

(d.) Ben is sleeping. The cat acci'dentaily jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
? : ' :

NO'
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Problem #1: ‘Ben is an engineer working in the Silicon Valley start-up company. He is
very energy consciencious. In order to save on his electricity bill he wants to use his car
battery to power his door bell. ' '

" (a) Finish the wiring diagram so that the bell can be activated from both: front and

b§°k door. -g’\i__b:gu_ Letl Py - Cc-«(

T . . e s
/ : : [z k / : o .
: . : - e ’ \?w ‘M.
(a5 aw”” N - a1 Neld
‘i "; . ‘/ i e f = . ; e T 4 7 B y f .
a0 ’ o~ k- =‘ —, )\ K
! ‘1 L e o \)‘ - / ' TN
dear Gl det &) carc e (B
) J)~ b - bﬂ\ ”e‘a' ftf:a:- EN VTSI ( b
Hint: watch for the door bell switches ! :

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell as a function of the two door bell swithes aand b ?

i.e. fla,b) =? (assume that door bell rings when =)

79(“)'*)) = &P

(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his
company in San Jose. The mailman-came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ? y %

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this triggered Ben's car alarm. Would the door bell ring
? - ' ) .

NoO
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Problem #1: Ben is an cnginéer working in the Silicon Vélley start-up cbmpany He is
very energy consciencious. In order to save on his electricity b111 he wants to use his car
battery to power hxs door bell - :

~ (a.) Finish the wiring dxagram so that the bell can be activated from both: front and

ba.,ck door. \ngu. Lell

. . \ - “;- ——— - I . cu '
U /\‘ o <R .-“ : | bﬂ ”&3 £{ fereH :‘-,\.w": Fed, {,L' l.
Hint: watch for the door bell switqhes ! : .

(b.) The door bell switch operates in the following way: when pressed the contact is
ON. When released - there is no contact (it is OFF). What is the logical
expression for the door bell asa functlon of the two door bell sw1thes aandb?

ie. fla,b} =? (assume that door bell rings when f=1)
£ - at b
(c.) Ben has gone to work in his car. He is now sitting at a shareholders meeting of his

company in San Jose. The mailman came to his back door to deliver his dividend check
and he is pressing the door switch. Would the bell ring ? MJ AThe C2X 1S gcmb

(d.) Ben is sleeping. The cat accidentally jumped on the top of his car and scared the
dog. The dog started barking and this tnggered Ben's car alarm Would the door bell ring

?\,CSWM khjj// >




. Problem #2: Given is a famous staircase wiring diagram with the switch arrangement
_ ' that can turn light OFF or ON on both sides of the stairs. {(you do not need to go
downstairs to turn the light OFF if;you are exiting upstairs).
If you designate the downstairs switch as D (which can have values 0, 1) and upstairs
switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

- . - 1 15w i
(a)Le. L=fU.D). Wﬁtefﬂf:ﬁ;&‘ﬁ'&ﬂlaud:xpiain! M:-;{ a’ﬂwr- _D 18 ‘:;; W mm RW
(b.) could this expression be minimized ﬁmh«:; s Powes . . |

no. ,?AC r_,.%ls

CHiAY b e be on

N -y Pog:—}j“,h

-




"Problem #2: Given is a famous staircase wiring diagram with the switch arrangement

that can turn light OFF or ON on both sides of the stairs. (you do not need to go
* downstairs to tum the light OFF if you are exiting upstairs). - - ,

If you designate the downstairs switch as D (which can have values 0, 1) and upstaits

switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

(a.)Le. L=f{U.D). Write this expression and explain |-

(B.) could this expression be minimized further - 4}"&55 S ‘Pow-&( :
g i< — |
o~ !
{ Wov o

-

his S
\,,*UC




Problem #2: Given is a famous staircase wiring diagram with the switch arrangement -
that can turn light OFF or ON on both sides of the stairs. (you do not need to g0
downstairs to turn the light OFF if you are exiting upstairs), _ o
If you designate the downstaits switch as D (which can have values 0, 1) and upstairs
switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

(a) Le. L=U,D). Write this expression and éxplain !

(b.) could this expression be minimized further g 35 POVEC

prel wet T
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ui% 'h"‘b P’Sl‘h.‘o}\ £
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Problem #2: Given is a famous staircase wiring diagram with the switch arrangement -
that can turn light OFF or ON on both sides of.the stairs. (you do not need to go
downstairs to tumn the light OFF if you are exiting upstairs). )

If you designate the downstairs switch as D (which can have values 0, 1) and upstairs
switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

(a.) Le. L=fU,D). Write this expression and explain !

(b.) could this expression be minimized further

Y

g Powes

il\ Opro Fo$_:"j‘ph .

et .-
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‘Problem #2: Given is a famous staircase wiring diagram with the switch arrangement -
that can turn light OFF or ON on both sides of the stairs. (you do not need to go
downstairs to turn the light OFF if you are exiting upstairs). , _ )

If you designate the downstairs switch as D (which-can have values 0, 1) snd upstairs
switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

(@) Le. L=fiU,D). Write this expression and explain ! _
(b.) could this expression be minimized further 2, g Powel

s¢ §

oV

Wit 'h*b POSH').\OAS
Wit W cn be on

n Srg PO$:+’\.‘D’\ .




"Problem #2: Given is a famous staircase wiring diagram with the switch arrangement
that can tumn light OFF or ON on both sides of the stairs. (you do not need to go

- downstairs to turn the light OFF if you are exiting upstairs).

If you designate the downstairs switch as D (which can have values 0, 1) and upstairs
switch as U (0,1), what i the logic function (logic expression) for the light being ON ?

(2) Le. L~{U.D). Write this expression and explain |

(b)) could this expression be minimized, further 3 sg 35 P‘m

oy
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OF SW1TAEx Yo WAVE
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Problem #2: Given is a famous staircase wiring diagram with the switch arrangement -
that can tum light OFF or ON on both sides of the stairs. (you do not need to £0
downstairs fo-turn the light OFF if you are exiting upstairs). L '

If you designate the downstairs switch as D (which can have values 0, 1) and upstairs
switch as U (0,1), what is the logic function (logic expression) for the light being ON ?.

(a)Le. L=RU.D). Write this expression andexplain ! | /' D 4 U \ C SaMe AS prem.
(b.) could this expression be minimized further 3, g 35 ‘P’M - '
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"Problem #2: Given is a famous staircase wiring diagram with the switch arrangement
that can tum light OFF or ON on both sides of the stairs. (you do not need-to go
downstairs tg turn the light OFF if you are exiting upstairs). _

If you designate the downstairs switchas D (which can have values 0, 1) and upstairs
switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

(a)le. L=f(U,D). Write this exﬁressiqn and explain | _ :
(b.) could this expression be minimized further 3, g 15 Powee
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"Problem #2: Given is a famous staircase wiring diagram with the switch arrangement -
that can tumn light OFF or ON on both sides of the stairs, (you do not need to go
downstairs to turn the light OFF if you are exiting upstairs),

If you designate the downstairs switch as D (which can have values 0, 1} and upstairs
switch as U (0,1), what is the logic function. (logic expression) for the light being ON ?

(a)Le. L=f{U,D). Write this expression and explain !

(b.) could this expression be minimized ﬁxrthe:; ‘ WS 55 Powes

¢ — !

oV

A F=UD 4D
' 'HKQ hﬁ%&' % L% m\hd \,tibm\ bgm Al o
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‘Problem #2: Given is a famous staircase wiring diagram with the switch amrangement -
that can turn light OFF or ON on both sides of the stairs. (you do not need to go
downstairs to turn the light OFF if you are exiting upstairs).

If you designate the downstairs switch as D (which can have values 0, 1} and upstairs
switch as U (0,1), what is the loglc ﬁmctlon (logic exptessmn) for the light bemg ON ?

(a.) Le. L=(U.D). Write this expression and éxplain |

(b.) cou d this eg;)ressmn be mn’ﬁn;é.{d%mh \1

s
L= Ustd ~
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‘Problem #2: Given is a famous staircase wiring diagram with the switch arrangement -
that can tumn light OFF or ON on both sides of the stairs. (you do not peed to go
downstairs to turn the light OFF if you are exiting upstairs).

If you designate the downstairs switch as D (which can have values 0, 1) and upstairs
switch as U (0,1), what is the logic functlon (logic expressmn) for the light being ON ?

(a.) I.c. L=U.D). Write this expression and explain !

(b ) could this expression be minimized furth

.

Wit ’h'*-b P’Sl‘hﬁr»\&

:D -\l\ D)\g_ Fog:f}j‘ph .
|
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‘Problem #2: Given is a famous staircase wiring diagram with the switch arrangement
that can turn light OFF or ON on both sides of the stairs. (yeu do not need to go
downstairs to turn the light OFF if you are exiting upstairs). .

If you designate the downstairs switch as D {which can have values 0, 1) and upstairs
switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

(2) Le. L={U.D). Write this expression and ngin! '::.f ( “J )) = U+ )

(b.} could this expression be minimized further 2,

i
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‘Problem #2: Given is a famous staircase wiring diagram with the switch amrangement
that car turn- light OFF or ON on both sides of the stairs. (you do not need to go

downstairs to turn the light OFF if you are exiting upstairs). _
. If you designate the downstairs switch as D (which can have values 0, 1} and upstairs
- _switch as U (0,1), what is the logic function (logic expression) for the light being ONY
——2 AN : :

(a)Le. L=AU.D). Wri:e:hasexpressfqﬁméplam!a)L = ‘x( U, 0) = U+ 7 '““)MTIU? 5‘3“ 15
’ ok ervleer

wel
¥ 1” { U s on OR
- Dison,

(b.) could this expression be minimized further 2, .
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) "Problem #2: Given is a famous staircase wiring diagram with the switch arrangement
' ' that can tumn light OFF or ON on both sides of the stairs.-(you do not need to go

downstairs to tumn the light OFF if you are exiti stairs).
- you designate the downstairs switch as D (which can have values 0, 1) and upstairs

switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

(a}Le. L=f(U.D). Write this expression and explain |

(b.) could this expression be minimized further




If you designate the downstairs switch as D (which can have values 0,
switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

(a.)Le. L=U,D). Write this expression and explain !

(b.) could this expression be minimized further

M\S ~2
gk

mg )

‘Problem #2: Given is a famous staircase wiring diagram with the switch arrangement
that can turn light OFF or ON on both sides of the stairs.

‘ (you do not need to go
downstairs to turn the light OFF if you are exiting upstairs). '

1) and upstairs

powec
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Problem #2: Given is a famous staircase wiring diagram with the switch arrangement
that can tum light OFF or ON on both sides of the stairs. (you do not need to go
dawnstairs to turn the light OFF if you are exiting upstairs), Lo

If you designate the downstairs switch as D (which can have values 0, 1) and upstairs
switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

(a)Le. L=RU,D). Write this expression and explain !

. (b) oou_ld this expression be minimized further
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Kem Uhllace

‘Problem #2: Given is a famous staircase wiring diagram with the switch arrangement

that can tum light OFF or ON on both sides of the stairs. {you do not need to go

downstairs to turn the light OFF if you are exiting upstairs).

If you designate the downstairs switch as D (which can have values 0, 1) and upstairs ‘ '

swiich as U (0,1), what is the logic function (logic expression) for the light being ON?__ U D reons

(2.} Le. L=f{U.D). Write this expression and explain ! P"-‘:- U D + \) O - "?_f" L\ 10 R
U D P06 v <,

| ell off

(b.) could this expression be minimized further 2, ¢ S 'P""“

no {ZM,_/'
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'Problem #2: Given is a famous staircase wiring diagram with the switch arrangement -
that can tum light OFF or ON on both sides of the stairs. (you do not need to go
downstairs to tum the light OFF if you are exiting upstairs), _

If you designate the downstairs switch as D {(which can have values 0, 1) and upstairs
switch as U (0,1), what is the logic function (logic expression) for the light being ON ?

(a)Le. L=fU,D}. Write thi$ expression and explain !

(b-) could this expression be minimized furth S Pe ‘
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‘Problem #2: Given is a famous staircase wiring diagram with the switch arrangement U
that can tumn light OFF or ON- on both sides of the stairs. {you do not need to go

downstairs to turn the light OFF if you are exiting upstairs). . _ 0
If you designate the downstairs switch as D (which can have values 0, 1) and upstairs -

switch as U (0,1), what is the logic function (logic expression) for the light being ON ? }

(@) Le. L=U,D). Write this expression and explain !

(b.) could this expression be minimized ﬁ:rthe:; ' ¢ S PoweL
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